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Chapter 1: Globalization of Markets and Competition

1. Which of the three propositions defines what is a global company?

a. A firm that exports everywhere in the world

b. A firm that invests in foreign countries

c. A firm that operates in the main markets of the world in an integrated and coordinated way

d. A firm that controls many foreign subsidiaries
2. Which factor is not conducive to globalization?

a. GATT and WTO

b. Internet

c. The reduction in transportation costs

d. Cultural differences between countries
3. The “shopping caddy” approach to product adoption is?

a. A marketing campaign for hypermarkets

b. A practice by which subsidiaries of a multinational company select the products that they consider adapted to their local market

c. A practice that defines how consumers select their products

d. How Research and Development departments in global firms classify their projects
4. What is the main reason why Amazon is obliged to open subsidiaries outside the USA?

a. Because of language differences

b. Because local governments require it

c. Because transportation costs would be too high otherwise
d. To manage taxes globally
5. In addition to “flexibility” and “proximity” what is the third major benefit of localization?

a. Quick response time

b. Costs reduction

c. Learning

d. The ability to launch products all over the world
6. Which of the following industry or segment  is both “local” and “global” (type III)?

a. Microprocessor

b. Food retail

c. Corporate banking
7. Which of the following argument runs against globalization?
a. Globalization induces corruption

b. Globalization increases inflation

c. Globalization reduces diversity

d.  Globalization increases price for consumers
8. According to the eclectic theory of globalization,  the factors that  push firms to internationalize are:


a. The desire to grow

b. The benefits of internalizing the operations
c. The incentives given by local governments

d. The ownership of competitive advantages

e. The presence of competitors

f. The attractiveness of countries

9. What is an “arbitrage benefit” for global firms?

a. Global firms can take advantages of cost differences among the countries in which they operate
b. The benefits of  being big  and therefore influencing local governments
c. The search for dominant positions
d. The benefit of  speculation on the stock markets
10. Which of those factors is not conducive to deglobalization?
a. Protectionist policies
b. The loss of cultural identity among nations
c. E-commerce
d. Brexit
Chapter 2: The Emerging Global Environment
1. Which one of those is not a characteristic of an emerging country?
a. Increasing middle class
b. Opening of markets
c. Planned  state –owned economy
d. High degree of infrastructure investments
2. Which of those is not an “institutional void”? 
a. Corruption
b. Lack of independence of judicial system

c. Centralization of power

d. Weak education system
3. According to “Bottom of the Pyramid” strategies:
a. Products are of lower quality          

b. There is no advertising

c. Products are fitting local conditions

d. Products are low-tech
4. What is the “Middle Class Effect”?
a. The distribution of income is more or less equalitarian`
b. The country is led by a “ bourgeoisie ” of well-off  educated people
c. The proportion of affluent people increase faster than poor people
5. Which of these measures are not part of the Washington Consensus?
a.  Deregulation to abolish entry barriers
b.  Fiscal discipline
c. Introduce social security systems
d.  Privatization of state enteprises
e. Promote genders equality of rights and income 
6. Offshoring and Offsourcing in emerging countries can be disadvantageous: 
a. Because of “market failures”

b. Because of risk of supply chain disruption
c. Because political risks
d. Because lack of customer proximity 
7. Emerging markets champions competitive strategies are based on:
a. An initial protected home market
b. Corrupted practices
c. Acquired technology
d. No environmental protection
e. Using OEM contracts
8. What factors may push foreign investor to engage in strategic partnership with a local firm in an emerging country?
a.  Local government requires it
b. To acquire knowledge about the market and the society
c. To share the financial cost of investment

9. What was the share of global trade of goods and services of China in 2019?
a. 5%
b. 8%

c. 10%

d. 15%
Chapter 3: Globalization, Societies and Cultures
1. According to Samuel Huntington the clash of civilization means that: 
a. Wars will be religious
b.  Democracies will be confronted by dictatorship

c. Poor countries migrants will invade rich countries
d. The source of conflicts will be cultural
2. Religious faiths and assumptions about human nature belong to the cultural category of:
a. Values
b. Preferences
c. Behavior
d. Basic assumptions and meanings
3. What is a “silent language”?
a. Way of communicating with “signs”
b. A non-verbal  communication
c. A written language
4. According to Hofstede, Asian cultures are:
a. Low on power distance and low on individualism 
b. High on power distance and high on individualism
c. High on power distance and low on individualism
d. Low on power distance and high on individualism
5. Based on Laurent’s research:
a. For American managerial culture subordinates accept to have two bosses 
b. Asian subordinates do not expect that their bosses have precise answers to questions about their work
c. Scandinavian accept that hierarchy can be by-passed
6. According to Meyer’s cultural map:
a. Japanese will avoid to give direct negative feedback to their subordinates
b. German will tend to present theories and concepts before facts and figures when they try to persuade someone
c. In Brazil trust in based on personal relationships
d. Chinese will disagree with open confrontation
7. An economic culture:

a. Is a culture that pretends that societies are driven by economic factors
b. Is a culture that pretends that the objective in life is to maximize economic performances
c. Is a culture that pretends that institutional governance and competitive behavior are driven by  socio-economic factors
8. In the Anglo-American cultures employees are evaluated and rewarded according to: 
a. Their loyalty to the firm 
b. Their seniority
c. Their measured performances 
d. Their obedience to rules
9. Performance of multicultural teams is a function of:
a. The language skills of participants
b. The absence of stereotypes
c. The ability of leaders to maintain multiplicity of perspectives
d. The geographical distance
10. In a negotiation, the bargaining range is:
a. The difference between the opening offers of the seller and the buyer
b. The difference between the seller’s and the buyer’s reservation price
c. The difference between the buyer’s and seller’s opening offers minus an uncertainty factor
11. What is ZOPA ( Zone of Possible  Agreement)?
a. The difference between the opening offers of the seller and the buyer

b. The difference between the seller’s reservation price  and the buyer’s reservation price

c. The difference between the buyer’s and seller’s opening offers minus an uncertainty factor
12. Business etiquette:

a. Is the set of government rules that regulate business transactions

b. Is the set of “silent language” codes 

c. Is the set of rituals that take place when people communicate in business transactions

Chapter 4:  Globalization, Sustainable Development and Social Responsibility
1. What does ”doing well by doing good” mean?

a. An advertising slogan
b. Making good decisions
c.  Making socially responsible actions that are also good for the company
2. When an ethical dilemma  may happen?

a. When one apply a self-interested ethical decision
b. When an ethical choice generate bad outcome
c. When an ethical choice runs against current business practices
d. When good outcome may results from a morally wrong choice
3. What proportion of the world economy is paid in bribes?
a. 15.2%
b.  3.3 %
c. 5.1 %
4. When a gift are not considered as a bribe ?
a. When it represent a relatively small amount
b. When the amount and nature of the gift are openly disclosed  
c. When it is given to an organization and not a person
5. Why corruption is often considered as discouraging foreign investments?
a. Because it hides the real economic value of a project
b. Because bribes goes often to the wrong persons
c. Because it dislocate the social fabric in host countries
6. What is a “cap and trade” scheme to reduce CO2 emission? 
a. A regulation that oblige companies to close high emitting facilities
b. A scheme by which a high emitting company are taxed heavily by authorities
c. A scheme by which authorities allow companies to emit CO2 up to a limit above which they have to buy CO2 credits
7. An eco-friendly investment? 
a. An investment in renewable energies projects
b. An investment in projects that take into account  environmental, social and governance impact on all inputs and output factors 
c. An investment in projects that are not producing CO2
8. What is the global magnitude of child labor? 
a. 17 million
b. 170 million
c. 270 million
d. 500 million
9. To buy products from a supplier who discriminates against women is ethically right if:
a. It is part of the traditional culture
b. There is no other alternative
c. In that country the President or the Prime Minister is a woman
10. What Amnesty International considers as good practice on human rights for global companies? 
a. Ensure fair remuneration
b. Finance hospitals and schools in countries
c.  Help financially organizations that are from the left
d. Ensure freedom of expression
11. What is the Triple Bottom Line?
a. An accounting software
b. Is a set of indicators on human resources issues
c. Is a report that provides indicators on the performance of companies on profit, human resources and environment
12. According to Milton Friedman:
a. Social responsibility is a private matter
b. The social responsibility of business  is to provide goods and services that people want to buy
c. The social responsibility of business is to increase its profit
13. “Green recovery” is?
a. A global campaign in favor of reforestation

b. A increase popularity of the “Green” parties in western democracies
c. A post-covid 19 governmental packages that integrate economic, social and climate change objectives.

d. A policy encouraging the transition from intensive agriculture to “organic” farming
15. Which of the following practices can be considered as “tax evasion”?
a. High transfer prices from high tax countries to low tax countries subsidiaries

b. Appoint a global “tax” advisor

c. Centralize taxes to Caribbean countries 
d. Exploit “loopholes “ in tax government policies 
Chapter 5: Designing a Global Strategy

1. What the difference between a “Business strategy” and a “Corporate strategy”?
a. No difference 
b. A corporate strategy is for big companies although a business strategy is for small companies
c. A corporate strategy applies to multi-business firms while business strategy applies to single business firms or to a segment in a multi-business firm
d. Business strategy applies to commercial firms while corporate strategy applies to any kind of organization 
2. The purpose of a business strategy is :
a. To select products and markets
b. To invest in new products
c. To dominates its industry
d. To develop a competitive business leading to value creation
3. A “regional” player is:
a. Is a firm aiming at developing  a  competitive advantage in all regions of the world
b. Is a firm aiming at tailoring its products to the taste of different regions
c. Is firm aiming at developing a competitive advantage in one particular region of the world
d. Is a firm limiting its presence to one region of Europe or the USA

4. In an Industry in which North America, Europe and Asia represent each 30% of sales. Which of the following firm would qualify for a nearly pure global firm from the point of view of Global Revenue Index?
a. Firm A sales : North America=40%, Europe 25%, Asia 25%
b. Firm B sales:  North America=30%, Europe 35%, Asia 10%
c. Firm C sales:  North America=35%, Europe 15%, Asia 25%
d. Firm D sales:  North America=28%, Europe 29%, Asia 32%
5. What is a “platform country”?

a. A country that can serve as “hub” for serving subsidiaries around it
b. A country that is the largest  country in a region
c. A country in which generally a global firm will set up a reginal headquarters
d. A country in which the Global IT service of a global firm will set up its servers
6. A ”customer’s value attributes” is:
a. Is a model used by global marketing people to evaluate the economic value  that a particular set of customers generate for the firm

b. Is the set of cultural and emotional  values that customers attach to a product or a service
c. Is the price above which customers will not buy a product or a service
d. Is the set of attributes that customer value when making a purchasing decision
7. Looking at table 5.4 (page 190) how do you think “Apple” is positioned?
a. Global Niche player, adaptive differentiator
b. Broad Global Cost Leader
c. Global Niche player, standard differentiator
d. Broad Global standard differentiator
8. A global firm competitive advantage is due to:

a. Ability to have access to resources and competences all over the world

b. To play “a global chess” game
c. To leverage and transfer knowledge from different subsidiaries
d. To benefit from economies of scale due to their efficient manufacturing or services systems

9. Can you rank  the major obstacles to the internationalization of Small and Medium Sized Enterprise from the more important obstacle to the lesser important?

a. Lack of credits
b. Lack of home government assistance
c. Lack of personnel trained to international business
d. Lack of information
e. High transport cost
10. What is “piggybacking”?
a. A financial technique to give credit to SME’s
b. A way of  grouping several SME’s in order to create economies of scale
c. A way for a multinational firm to help their suppliers to set up operations close to their own subsidiaries 
d. A way for governments to help SME’s to internationalize 
11. Which of the following proposition applies to “born-global firms”?
a. They adopt a step by step approach to internationalization
b. They consider the world as one market
c. They taylor-make products to fit local markets
d. They adopt the practice of “learning by doing”
Chapter 6: Assessing Countries’s Attractiveness
1. What does “industry opportunities” mean for the assessment of countries?
a. Market growth
b. The quality of demand
c. The investment incentives given by government
d. The competitive climate
e. The availability of suppliers
2. Why “the middle class effect” represents an opportunity for foreign investors?
a. Because middle class people like imported products
b. Because middle class people trigger the demand for the mass consumer and durable goods and their related inputs 
c. Because middle class people are in favor of free trade
3. What does mean “quality of demand”?
a. All customers are looking for quality products
b. Price is not an important buying decision factor in this country
c. There is significant  “Top end “ and “high end “ segments in the market
d. Quality control is imposed by the government in this country
4. Is it true that:
a. Countries that are able to combine high productivity and quality of labor are attractive to foreign investors


b. An export-processing zone is an area where offshore factories manufacturing products for exports are set-up          
c. Resources intensive industries like oil and gas and sensitive to political risks 



d. In the service industries China and India are relatively low cost and high quality

5. A ”country diamond” is:

a. A place where diamond are extracted


b. Is a method to evaluate the competitiveness of a country
c. Is an indicator showing that governments are supporting foreign investment






6. According to Michael Porter there are five forces that determine the long term profitability of an industry. On page 239 in table 6.4 “government policies” is an addition not mentioned in the original Porter’s theory of competitive strategy? In what respect government policies affect the long-term profitability of an industry?
a. Government can be bribed 
b. Strong industrial lobbyists can influence laws makers  in their favor
c. Governments may lower entry barriers  by deregulating
d. Left-oriented governments may put too much taxation on business
7.  Is it true that country risk analysis is concerned with:
a. Corruption
b. Democratic government
c. Assets destruction
d. Gender inequality
8. According to the CAGE framework which of those would be considered as low -distance countries:

a. Saudi and China
b. Portugal and Brazil
c. Malaysia and Indonesia
d. Spain and Turkey
9. A” Grand tour approach” for evaluating countries’ opportunities and risks is :

a. An approach by which analysts rang countries
b.  A statistical method of risk analysis
c. A series of  visits to countries by analyst to meet all kind of people and collect direct information
d. A method through which analyst make a tour on the internet to collect information

Chapter 7: Entry Strategies
1. What are the “Learning objectives ” for entry in a foreign country?
a. Developing the local market by learning by doing
b. Gain knowledge about technology or business by operating in a country
c. Making the country as a center for strategic or marketing intelligence
2. What is a “window of opportunities”? 

a. An opportunistic approach to foreign direct investment
b. A particular place in a country where there are many opportunities for doing business
c. It is the time span when it is neither too early nor too late to invest
3. What are the disadvantages of being the first to enter?
a.  The market is not mature to accept the product or service
b. Governments resist entry
c.      Facilitates the job of a follower
d. Being obliged to do a joint venture 
4. When acquisition seems better than joint-venture for market entry?

a.  Because of speed of entry
b. When  political risks are high
c. If the foreign investor wants to protect its technology
d. Control of market is easier

5. Choosing a partner who wants to diversify is advantageous for a foreign investor:
a.  Because the partner is likely to have good market knowledge
b. Because the partner is likely to give operational support
c. Because the partner is probably not going to interfere in the management of the joint venture
d. Because the partner is likely to facilitate the entry thanks to its contacts

6. What are the disadvantages of entering a country with licensing?
a. Slow 
b. Loss of control of technology
c. Risky
d. Complicated to manage
7. What is “real option” for market entry?
a. In financial investment on the stock exchange
b. An agreement with a the government to invest under certain conditions
c.      A preliminary small investment with the possibility at the end of a certain period to expand or retreat 
8. Put an H if you would consider the following as Hybrid  or a D if you consider Digital entry:
a. Netflix
b. Facebook
c. Amazon
d. Airbnb
e. Apple Music
Chapter 8: Global Mergers, Acquisitions and Strategic Alliances
1. Which types of value creation are long term in mergers and acquisitions?
a. Tax shield

b. Enlarged markets

c. Transfer of technology

d. Price Earnings ratio leverage

e. Disposal of assets
2. Why due diligence is particularly difficult to perform in emerging countries?
a. Marketing and strategic information are less reliable

b. Because language problems

c. Because there is no good consultants

d. Because political intervention may hamper fair assessment

e. Accounting standards are not aligned with international standards

f. Because a lot of firms are family owned
3. What is the stand alone value in cash flow valuation?
a. Valuation of cash flow made in local currency

b. Valuation of cash flow done with only one source of information

c. Valuation of cash flow as if the acquired company continues its activities without the merger

d. Valuation of cash flow after incorporating the short-term synergies
4. Which one of those are considered as a source of failure in integration?
a. Wrong synergies
b. Lack of language skills

c. Cultural mishandling

d. Lack of concrete results

e. Government interventions
5. The symbiosis mode of integration is:

a. A technique based on the consolidation of financial resources

b. The rapid implementation of functional synergies

c. The practice of integration teams 

d.  A practice that implement progressively the needed synergies
6. What is “a winning spiral”?
a. Rapid positive results during the integration phase that reinforce  confidence in the whole acquisition process
b. The successful implementation of synergies

c. Tax benefits resulting from the merger

d. A human resource practice encouraging a “winning” culture among employees during the phase on integration
7. Among those what are the main types of value creation looked after in international acquisitions ?
a. Products diversification

b. Technology acquisition

c. Global reach

d. Economies of scale 

e. Vertical integration
8.  In a  “global leverage alliances ” partners are looking at:

a. Enhancing their sales by pooling their resources

b. Getting access to technology of the other partner

c. Reducing costs by sharing facilities

d. Sharing tasks according to their own specialization
9. In an alliance, when evaluating strategic fit, one is looking at:
a. The ability for partners to adopt a similar strategy 
b. The ability for partners to understand each other’s
c. The ability for partners to negotiate the strategy of the alliance
d. The compatibility of the partner’s respective strategies
10. What are the sources of synergy in a global alliance?
a. Cost saving due to combined operations
b. Government subsidies
c. Increased revenues from joint marketing
d. A clear governance framework
e. Increase profitability from joint innovation
11. If in an alliance partner have an “ extractive agenda”  they:

a. Are looking at extracting the most value for themselves 

b. Are looking at maximizing efficiency of the alliance

c. Are looking to acquire capabilities from the other partner

d. Are looking at sharing resources to lower cost

12. What is the best strategic fit  among partners in an alliance:
a. Both partners know each other for long time
b. For both partner the deal is of strategic importance and need a partnership

c. There is a lot of potential synergies 

d. One partner is willing to be a “silent” partner
13. In a “project team” form of alliance:
a. The alliance personnel plays the role of a project manager coordinating operations from parent companies
b. The alliance personnel organizes technology forums between parents 
c. The alliance business deals with infrastructure projects 
d. The role of the alliance is to develop new business

14. The “ death valley ”  in an alliance:

a. Indicates that alliances are doomed to fail

b. Is indicative that the alliance has been badly negotiated

c. Is the stage of termination of an alliance

d. Indicate that frictions happen between partner at the early stage of implementation

15. Global firms enter in a local joint-venture:

a. Because they are forced by local governments

b. Because they don’t know the local context

c. Because they don’t have enough resources to do business by themselves

d. To exploit local natural resources
16. A political partner in a local joint-venture:

a. Is a local politician

b. Is a partner who is a good strategist

c. Is a local businessman who enter in a joint venture under the pressure of the local government

d. Is a local partner who has good contacts with authorities
17. The ”joint venture decay” :

a. Indicates that a joint venture comes to an end

b. Indicates that partners are fighting

c. Indicates that the mutual  benefit of the joint venture starts to decrease

d. Indicates that all joint ventures are plagued with difficulties  

18. In an alliance web:
a. One company enter  in partnerships with several companies 

b. Several companies contribute directly to the same project
c. Several companies contribute and benefit  interdependently on a one to one basis
19. In industrial ecosystem:
a. There is legal contract that governs the relationships among members

b. Interacting firms depend on  each other’s activities 
c. Group of companies deal with biodiversity

d. Internet related companies trade on line 
20. The following activities belong to the long distance travel ecosystem?

a. Museums and tourism 

b. Online shopping

c. Car industry
d. Hospitality industry
21. In a joint venture in order to be successful 
a. One partner needs to have the majority control

b. Integration teams have to be put in place
c. Middle and low level personnel need to  understand the objectives of the venture

d. Senior staff need to be culturally sensitive
Chapter 9: Global Marketing
1. What is “customer’s convergence”?
a. Most customers in a country are grouped in one big segment
b. Low-end markets in emerging countries are price sensitive
c. National differences in consumer  needs and behaviours across the are erased
2. When “modular standardization” is more appropriate?
a. When customers converge
b. When the minimum economic size of production is relatively low
c. When both minimum size is high and customers diverge

3. Among the following what are the characteristics of global brands?
a. Address similar consumers needs worldwide
b. Attached to high-end products or services
c. Easy to pronounce
d. Advertising made only in English language
4. What are the disadvantages of global branding?
a. Global brands are too much US or European based
b. Global brands ignore national culture
c. Global brands may lead to over-standardization
5. What are the advantage of digital advertising ?
a. It is less expensive than traditional advertising
b. It allows to advertise easily with local content
c. It reach all consumers across the world
6. When global pricing is more appropriate?
a. When the product or service is targeted at customers that have  similar value curve
b. When the product or service is sold under a strong ‘global brand’.
c. When there are strong possibilities of arbitrage.
d. When the product or service has standardised functionalities, qualities and features.
7. Why global pricing may create sub-optimization ?

a. Because of currencies differences

b. Because  of value added taxes

c. Because of differences in customers’ utility curves

8. What are the differences between global account management and global solution selling?

a. No differences, it is the same

b. Global account is for procurement and global solution selling for sales

c. Global account is serving customers’ subsidiaries according to a centrally negotiated contract while global solution selling is the contribution of a global company’s subsidiaries to a single customer
9. A local usage global product:

a. Has all components of the marketing mix localized

b. Is a product adapted to local conditions but all other marketing mix elements are similar across the world

c. Is a global product with all other marketing mix elements adpted to countries

10. Which of the following applies to fair trade marketing?
a. It ensures that no child- or forced-labour policies are practiced
b. Suppliers are sponsored by an Non-Government organization
c. It does not apply to textile products
d. Wine is forbidden in equitable trade

11. Among the following three factors which one explain why sales and distribution are often the most difficult functions to globalize?

a. Because of negotiation cultures

b. Because of no economies of scale

c. Because of  currencies fluctuation
Chapter 10: Global Operations and Digital Networks
1. What are the differences between offshoring production and outsourcing?

a. Offshoring production is locating factories in a different country while outsourcing is buying from a different country
b.  No difference
c. Offshoring production is locating factories in different countries, but outsourcing can be done  either in the home country or in different countries

2. Which type of offshoring are accepted politically in the home?
a. Local for local production
b. Local for local outsourcing
c. Local for global production
d. Local for global production

3. What is the primary role of a server factory?

a. To produce low-cost items 
b. To produce products or components for local or regional markets
c. To design and produce products for the entire global network

4. What are the implications of the distinction between front-office and back-office activities in services  for global business?

a. Both need local adaptation
b. Front-office needs more local adaptation than back –office 
c. Back-office can be centralized while front-office not
5. When a distributed procurement is appropriate?
a. When local prices are low
b. When governments impose local content
c. When electronic sourcing is not possible

6. In a reverse auction through internet?

a. The sellers adjust their price over the allocated time
b. The sellers communicate their price by e-mail
c. The buyer selects always the lower price

7. In a ROT contract in projects ?

a. The project provider builds the project and operates it 
b. The project provider builds the project and helps the customer to operate it

c. The project provider refurbishes the old installation and operates it

8. What is the reach versus richness trade-off when applied to internet ?

a. Internet is more better at reaching a large number of customers  than to provide quality goods or services

b. Internet focuses on costs reduction and therefore is less rich in term of services than brick and mortars transactions

c. Internet permits to achieve at the same time volume and quality of service 
9. The internet contribution to globalization ?

a. Makes global products more visible

b. Makes competitive comparisons easier 

c. Enhance global sourcing

d. Exploits differences in country costs
10. To what extend the internet facilitates the management of global firms?

a. Provides a platform for global knowledge management 

b. Allows a more centralized management
c. Eliminates cultural differences
d. Allows for customer interactions, requests and feedback and to consolidate customer data 
11. A smart factory is: 

a. A factory run by scientists
b. A factory operated with robots and machines communicating with each other through an internet connection
c. A factory that operate in real time in a decentralized manner through the combination of web based advanced  technologies 
Chapter 11: Global Innovation
1. According to the international product life cycle theory:
a. Innovation done in one country diffuse instantaneously all over the world
b. Innovation done in one country is transferred to other countries over time
c. Innovation is transferred without adaptation

2. What criticisms are addressed to global R and D networks?
a. They are expensive
b. There is a loss of critical mass
c. There are language problems
d. They do not permit the communication of tacit knowledge 

3. In a parallel distributed management of global projects:
a. Several research centres take responsibility for one different inter-related element in the design and creation of the prod​uct/process

b. The project is divided between several units in such a way that inter-unit communication is limited to only a few parameters.


c. The project is distributed around the clock to research centre according to time zone
4. In a global  co-located project management organization for the development of an aero engine:
a. The whole design of a certain type of engine will be done in one  research unit 
b. One  research units develop the combustion chamber, another  unit develop the regulation and a third one the compressor
c. All research units work on the whole design and exchange information
5. What is appropriate technology transfer?

a. Technology is transferred at an appropriate time

b.  Technology is state of the art

c. Technology transferred is adapted to fit with local conditions
6. When explicit knowledge is converted into tacit knowledge one talks about?

a. Socialization

b. Acculturation
c. Internalization
d. Combination
7. Among those which ones are constraining global knowledge management in global companies?

a. Lack of trust between units
b. Non-invented here syndrome
c. Complex  technologies involved
d. Time zones difference
8. In the metanational model?

a. Dispersed knowledge creation centers with diverse capabilities share knowledge
b. Decentralized knowledge creation centers report to a central R and D corporate office who centralizes knowledge
c. Central R and D allocates projects to dispersed centers

9. Open innovation means:
a. Innovation is rapidly diffused in the organization
b. There is a lot of exchange of information internally
c. Innovation can come from external sources
10. To protect intellectual property right it is often recommended one of the following:

a. Deploy internationally only obsolete or “old” technology

b. Restrict disclosure of IP to a selected number of employees
c. Patent all knowledge
Chapter 12: Global Financial Management
1. Hedging against strategic exposure can be done by :

a. Buying forward contracts

b. Balancing sales and production within exchange zones
c. Buying forward contracts
d. Netting

2. Leading and lagging consists in :
a. Buying put options and call options simultaneously
b. Delay the collection or accelerate payment of payables according to the nature of currency
c. Delaying the payment of taxes by using tax heavens
3. Option contracts as edging technique consists in:

a. A contract by which one buy a currency at a given rate
b.  A contract by which one has the option to cancel the contract if the exchange rate varies too much

c. A contract by which one buy the right to buy or to sell a currency at a given rate
4. In  adjusted present value for cash flow valuation:

a. Cash flows are adjusted  with inflation

b. The discount factor used is adjusted with a country risk premium

c. Cash flows are adjusted using a probability distribution of risks
5. When investing in a country the  political risks of that country:

a. Can be taken into account by introducing a country beta in the cost of capital used for valuating investments
b. Cash flow are translated using the purchasing power parity difference between investor country and recipient country

c. Use a interviews with experts to determine a political adjustment of final NPV
6. Islamic finance:

a. Prohibits investment in stocks

b. Applies a special capital tax on dividends

c. Prohibit the charging of interest on loans

d. Prohibit investments in wineries 
7.  The fact that French’s stock market (CAC 40) correlates only with the Japanese  stock markets  (Nikkey) shows that:

a. France is strange country
b. Because of the Renault-Nissan joint venture
c. Capital markets are not really convergent
8. A Eurobond is :

a. Is a bond denominated in Euros
b. Is a bond issued from Europe

c. Is a bond denominated in  foreign currency to the buyer
9. A credit rating:
a. Is the determination of a rate for an international bond
b. Is the rating of the value of a project for which the credit is granted
c. Is the assessment of probability of default of the  borrower
d. Is the assessment of currencies risks

10. Bilateral Development Financial Institutions are:

a. Financial institutions set up by NGOs to finance development projects in emerging countries
b. Financial institutions set up by one country to finance development projects 

c. Financial institutions devoted to one country development projects
11.  Which institution guarantee the value of a cryptocurrency?

a. The International Monetary Fund

b. The World Bank

c. A complex internet based algorithm

d. No guarantee at all
12. A letter of credit is 

a. Is a document issued by the importer’s bank

b. Is a document issued by the exporter’s bank

c. Is a document issued by the International Chamber of Commerce
13. Which one of this technique is considered as countertrade
a.  Buy-back contracts
b. A commercial transaction mediated by an export credit agency
c. A procedure to deny the delivery of goods 
Chapter 13: Global Human Resource Management
1. In the multi-domestic human resource design:
a. Local personnel have many opportunities to become part of the corporate office
b. Local are managed globally
c. Local personnel have their careers in their own countries
2. When firms move away from the traditional expatriate model and adopt  a global staffing model

a. Expatriate contracts are progressively replaced by local contracts

b. People are appraised based on local performances only

c. Recruitment of global staff is made from all over the world
3. During the process of acculturation some expatriates adopt a “flight” attitude; meaning that:

a. They try to leave their assignment as soon as possible

b. They insulate themselves   and prefer to live in an “expatriate ghetto

c. They show hostility toward the local environment
4. According to Stahl, among the recommended skills for selecting expatriate is the ability to :

a. Know the language

b. To develop good contacts with governments
c. To be tolerant to ambiguity

d. To maintain a unified global culture
5. In a  local based compensation package for expatriates :

a. Employees are paid a  salary based on a basket of currencies

b. Cost of living differences are not taken into account  

c. Employees are paid  in line with the equivalent local job with some adjustments
6. What does mean “mentoring” expatriates :

a. Companies pay for psychological support to help expatriates 

b. A manager located at headquarters is in charge of mainteneing a regular communication with the expartiate about carrer issues

c. A process of performance evaluation through which hierarchical supervisor give feedback to the expatriate
7. Among the assignment practices that the covid19 has encouraged :

a. Short-term assignments

b. Virtual teams
c. Permanent transfers
8. Along those what are the features of “fair treatment” of local personnel :
a. Local personnel are compensated on the principle of equal job equal pay
b. Local personnel are trained to climb the hierarchy in their own country
c. Local personnel are given bonuses according to local performances
Chapter 14: Designing a Global Organization
1. In the  “geographical organization”: 
a. The local subsidiaries are motivated to share knowledge with others subsidiaries
b. The functional activities are coordinated at corporate headquarters 
c. Each subsidiary is responsible for its profit and losses
d. Local entrepreneurship is encouraged
2. The global functional organization is better adapted to:

a.     Single business companies or to segments within multi-business firms
b. For low-cost standardized products or services
c. Industries where customers across the world exhibit converging needs and tastes
d. Industries with high potential for  economies of scale
3. Among the following factors which ones are describing the disadvantages of matrix structures? 
a. Rigidity
b. Dilution of responsibility
c.     Dual focus 
d. Turf battles
4. What is the key characteristic of the transnational model of organization?

a.     It is simple

b. It relies on management processes and culture
c.     Global managers are given more power than local managers
d. It is another word for defining a “matrix “ organization
5. What are the characteristics of digitally enabled-organizations :
a. Centrally managed via computers 
b. Digital platforms make local customers relationships easier
c. All employees are computer specialists
2. What is holocracy?

a. A digitally controlled organization 
b. A form of non-profit organization
c. An organization based on sel-organizing teams


3. What are the roles of a “facilitator” regional headquarters?

a.  It facilitates relationships with local governments

b. It helps business development

c. It focuses on administrative tasks

d. It finances local subsidiaries 

e. It coordinates activities across subsidiaries
Chapter 15: Current and Future Trends
1. Among those which arguments the dissenting voices use to criticize globalization

a. Globalization standardize the way of living

b. Globalization reduce social protection

c. Globalization make multinational firms too powerful
4. According to Francis Fukuyama, the “end of history” meant that:

a. The world will be a “global village”
b. Worldwide wars no longer possible
c. Liberalism will prevail all over the world 
5. What percentage of the Chinese population will be over 60 years old by 2050?
a. 15 to 20%
b. 20 to 25%
c. 30 to 35%
6. Which sentence is right about inequalities?
a. Inequalities between rich countries and low income countries have increased since 2005
b. Inequalities within countries continues to increase
c. Inequalities have increased in Asia
7. Which of those arguments are in favor of migration?

a. Fill jobs vacancies in industrialized countries

b. Reduce poverty in less developed countries

c. It favors globalization 
8. What are the main differences between the European Union and the other forms of regional trade agreements
a. No difference

b. The Euro is the single currency of all EU members 
c. EU is more than a trade union it is political union 
9. Which country in South America is not member of MERCOSUR , only associated :
a. Argentina

b. Peru

c. Bolivia

d. Brazil
10. What will be the possible temperature change on the global surface in 2100 according the high emission of greenhouse gas emissions

a. 1°C

b. 2°C

c. 3°C

d. 4°C

e. 5°C
11. Among the possible technological development which ones can raise some ethic al problems?

a. Nanotechnology

b. Artificial intelligence

c. Cloning

d. Quantum computing
12. Among those, what are the global risks qualified as low impact by the World Economic Forum from  2021 to 2031?
a. IT infrastructure failure

b. Debts crisis
c. Digital power concentration
d. Climate protection failure
13. In the individualized corporation model

a. Is an organization based on networked relationships

b. Is an organization where individuals employees contribute to decision-making

c.  Is an organization  based on small business units
14. Future scenarios are:

a. Econometric tools of forecasting

b. Internet based industrial video games

c. Representation of possible future images of state of affairs
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